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console.log(6 / 4);

console.log(6 % 4);
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// for_position.html

a=5+>5
a=5-5
a=5*5
a=5/5
a=5%>5
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a=>5a-=5
a=5a*=5
a=5a/=5
a=>5a%=5;
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vara = 1;
varb = ++a;
console.log(a, b);

vara = 1;
var c = a++;
console.log(a, c);

a=a+1;

a=1 ++a;
a = 11 a__l
1 22
a = 1, __al
vara = 1;
a=a-+1,;
var b = a;
vara =1;
var c = a;
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var direction = (value >

var value = 0.7;
var direction;
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2 ()
3 e, ==
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a+b-c
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X 713 (Conditional Statement)



var num = 4;

if (num % 2 ==0) {

console.log( num + "= ®QIL|CH");
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var num = 4;

if (num % 2 ==0) {

console.log( num + "= &= L|C}.");
} else {

console.log( num + "= 242 L|CL.");

var num = 4;
var str = "";
str = (num % 2 ==0) ? num + "= ®QL|CL" : num + "= S5=YL|CL";
console.log(str);
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if (Z=41) {

} else if (ZXZ2) {
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switch (BH=) {

case 3r1:
[/ HE7) Zf10|™H HAH
break;

case Z}2:
[/ HE71 4f20|H LA
break;

default:
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var day = new Date().getDay();

switch (day) {

case 1:
console.log("2Qa");
break;

case 2:
console.log("stQ 2");
break;

case 3:
console.log("4=Q2");
break;

case 4:
console.log("2Q2");
break;

case 5:
console.log("=24");
break;
case 0:
case 6:
console.log("F2");
break;
default:
console.log("2 0| OfL!L|Ct.");
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2H| 1. callNumbero| Ztoj tcta} zHzt Of2iQt Z2H0| &S A |.
1588-1111¢ AL "IFt= Ar OFLH & L|CF.",
1588-2222Q AL = OFL{ L] Ct.",
1588-3333Y AR "FtE 24 A7 Oty QiL|Ct”,
1588-0000 &< "MEHHUS HASL|CL",
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"red" EE= "FFO000"Q A2 "set red color.”,
"green" EE= "O0FF00"Y AL "set green color.”,
"blue" EE= "0000FF"Y A2 "set blue color."

71 2|0l = "red, green, bluet Zz{ A™H0| 7t=gtL|Ct."
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(Repetitive Statement)



console.log("<li>W&</li>");
console.log("<li>Lj&</li>");
.. (BEf)

console.log("<li>L|&</li>");

console.log("<li>W|& 1</li>");
console.log("<li>L}& 2</li>");

>

. (BE)
console.log("<li>L|& 20</li>");



console.log("<li>Lj &2 </li>"); for (vari=0; i < 10; i++) {
console.log("<li>L|&</li>"); console.log("<li>L|&</li>");
. (SE) by

console.log("<li>Lj & </li>");

console.log("<li>L{|& 1</li>"); »for (vari=1;i<=20;i++){

console.log("<Ili>L{|& 2</li>"); console.log("<li>L{& " + i + "</li>");

.. (B&f) b
console.log("<li>Lj& 20</li>");

for (vari=1; i <= 1000; i++) {
console.log("<li>L|& " + i + "</li>");



// ORE| 97}X| =&
for (vari = 0, total = 10; i < total; i++) {
console.log(i);

// 108 H 17tX| &4
for (vari=10;i > 0; i--) {
console.log(i);

b
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var objLi = document.getElementsByTagName("li");
for (vari = 0, length = objLi.length; i < length; i++ ) {
objLi[i].className = "on";
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for (vari=0;i< 3;i++) {
for (varj=0;j<5;j++){
console.log("i: " + i, "j: " +j);

¥

console.log("end inner loop..");

b

console.log("end outer loop..");
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3*9 =27
9*9 =281

9*2 =18
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// 185 107X =4 // 125 107X =4
vari = 1; for (vari=1;i <= 10; i++) {
while (i <= 10) { console.log ("i: "+ i);
console.log("i: "+ i); )
I++;
b
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do {

/] 4 ot A

// while2] Z=H S 20QI5t0 FHO|H A= &2
} while (Z=Z);

// "end"7t QBT WTHR| A& LHE 27|
do {

value = window.prompt("end7} 2/ Z W7tX| AL A 8r&L|CH");
+ while (value !'= "end")

[l =X & Y T -14 WA 00| & Wi7HK| =X& ==5t/|
var inputNum = window.prompt("==Xx}& TN L.");
var num = parselnt(inputNum);
do {

console.log(hum);

num--;
} while (num >= 0)
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// i G 2o 57} & H QIE A U=X| F517|
vararr =[3,4,5, 1, 2, 6];
for (vari = 0, total = arr.length; i < total; i++) {
console.log(i);
if (arr[i] ==5) {
console.log("59| Q&A= " + i + "QL|CL.");
break;



= continue

3/

// B G Qto| gt E8Stk, 1 440| 58 BF0= ==otX| 7|
vararr =[3, 4,5, 1, 2, 6];
for (vari = 0, total = arr.length; i < total; i++) {
if (arr[i] ==5) {
continue;

b

console.log("QIEHA" + i + "O| Zr2 " + arr[i] + "¥L|CL.");



